UNIVERSITY OF WARWICK
Department of Economics
EC936:  Development Policy Modelling
An exercise on SAM construction
The following information is available for an economy in a certain year. All figures are in monetary units (i.e. they are transactions).



Receipts




Expenditures
Production activity 1 (Agriculture and food processing)

Sales to activity 2


  2
Fertiliser imports


  2
Sales to activity 3


  1
Purchases of domestically-produced 
Sales to activity 4


  1
     intermediate goods and services
  6
Sales to households


10
Wages




 11
Exports




  6

Production activity 2 (Manufacturing)

Sales to activity 1


  2
Raw material purchases from activity 1
  2
Sales to activity 3


  3
Transport and distribution services
  5
Sales to activity 4


  5
Imported raw materials


  3

Sales to households


  6
Wages




  6
Sales to government


  3
Production activity 3 (Capital goods and dwellings)
Sales to private sector 


12
Intermediate purchases from activity 1
  1

(including dwellings to households
  2)
Intermediate purchases from activity 2
  3
Sales to public sector


  2
Intermediate purchases from activity 4
  2
Exports




  1
Imported raw materials


  4







Wages




  3
Production activity 4 (Services, including transport and distribution)

Sales of services to households

  3
Intermediate purchases from activity 1
  1
Sales of services to government

  1
Intermediate purchases from activity 2
  5
Sales of services to all domestic production 
Wages




  4
      activities (intermediate sales)
11
Operating surplus


  6
Exports of transport services

  1
Note that the above accounts are incomplete: you have to complete them (either by reference to other activities, or by assuming that the balancing item is operating surplus – or ‘profits’).  It is a social accounting ‘jig-saw’ puzzle (c.f. Sudoku).  There is also some additional information provided overleaf.

In addition to the activity accounts you are given the following information about the economy:


(i)
All companies are in private domestic ownership (i.e. no foreign ownership, and no public ownership).


(ii)
Households receive net migrant remittance income from abroad of 1.


(iii)
The government receives 8 in taxes.  Half of this derives from households who receive 10 in the form of social benefits from government.


(iv)
Companies distribute half of their income after tax as dividends.


(v)
Households spend 5 on goods directly imported from abroad.


(vi)
Households invest 8 in domestic company stock and invest 1 abroad.


(vii)
Foreign investment in domestic companies is 2, and these companies invest 4 overseas.

From this information:

(a)
Set out the social accounting matrix (SAM) for this economy

(b)
(i)
What is the gross national income (GNI)?


(ii)
What is the gross domestic product (GDP)?


(iii)
In what sense are savings and investment equal?


(iv)
What is the balance of payments deficit and how is it financed?

(c)
Consider the treatment of the transport and distribution (activity 4) –how should we interpret the entries?  
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